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BIER : SFM4FE9A178 (L) BEBIEE

BN BiBE = 818 0. 06 0.06 | 0.06 | 0.05
BEEEH O A RE = 818 0. 04 0.04 | 0.06 | 0.02
i} NS, ERRH = 818 0.07 0.05 | 0.07 | 0.05
A gwiTzme | mamAc | m | wR 0.06 006 | 0.04 | 005
e TR B = g8 0. 04 0.07 | 0.09 | 0.06
RO AN BHUES BEM = b 0.10 0.08 | 0.07 | 0.08
BRESFH B = 818 0. 06 0.06 | 0.06 | 0.03
#4401 BiBE = 818 0. 06 0.05 | 0.05 | 0.04
DELEE HE = 818 0.05 0.05 | 0.05 | 0.04
FHREF O A RE = 818 0. 05 0.04 | 0.05 | 0.04
BEiRIL B OB S ErEip = 818 0.09 0.00 | 0.08 | 0.05
; SREFXFEZRVKLIES| WEZAO i BZI% 0.07 0.06 0.03 0.04
e waNERS SELOBR | B Pk 0.07 0.07 | 0.07 | 0.06
St bt o A — Bt = 2 0.07 0.08 | 0.08 | 0.08
AL e = 818 0.05 0.06 | 0.05 | 0.05
A BN = A C 0.06 0.05 0.04 0.05
PN Bt = 8ig 0. 06 0.05 | 0.04 | 0.05
AT IR 15 RipanErEIg | BB 818 0. 06 0.05 | 0.05 | 0.09
BEANSE ey = b 0.07 0.06 | 0.08 | 0.07
B4 3N BiRE = 818 0. 04 0.05 | 0.05 | 0.05
B mRER O ARz = &g 0.08 0.05 | 0.05 | 0.04

En/rig
KRREEEISEE | EBE® = 818 0.09 0.07 | 0.06 | 0.06
AN ey = g8 0.05 0.07 | 0.08 | 0.07
Eg?%i%;’il: e i 8ig 0. 06 0.04 | 0.05 | 0.02
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